SEC:CN’DYEARHEGH‘ER SECONDARY EXAMINATION
MARCH

9

SUBJECT: ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS CODE NO. SY 49

1

PART A
fra*n TSub . Answer key or Value pomts o —]—Sc_ore Tota -
‘_i’\l_q_ | Qns |__ L I i
| 1 ) Tc Owners Fund 1 1
| 2 _4___ _Ib.Both(b)and(c) =~ = 1 |
13, |b Not mandafory 1 [ 1]
|4 T Ta Debited to Revaluation A/c T 1
5 [ Total drawings =1000712=12000 (
’ , l lntﬂrest on drawing=12000*6.5/12*6/100 -
N =390 - 1 |
j | (for equation 1 mark. For answer 1 mark) ’ 1 2
[ | j 1
6 f‘ | .Partner ...10Old Ratio _Sacrificing Ratio  [NewRatio | 1
\ ;;Baja_n’_ ‘;3/5 325 L ﬁ____“f1~2_/g§ e
| | ,1 'Radhan 215 . 2125 : ]8/25 _J
IR S _ bro] 2
7o | Amount paid for stationary during 2017-18 = 1300 i
- Add: Stock of stationaryon 31.03.2018 =1200 |
: ! Creditors at the end of 31.03.2018 = 1400 )
- 3900 .
l.ess:Stock of stationary on 31.03.2018 = 1900 '
| ' Stat:onary consumed during the year = 2000 | P2 |
! | (foreach correct entry 1/2 score. (or )for correct answer give 2 ! |
r| ; } score) l J ’
] - . . i
. 8 | Particulars - L/F Debit  'Credit ] o
| ';l ﬁ -~ |amount ‘amount !| 1 '
, |’Reahcatlon Alc Dr ;‘ | ;9900 |
!J _ IQanh, Al L ]9900 ‘| !
| I {for calculatmg amount 1 score . JOJrnal entry 1 score) 1| 2
! |
9 | Ta Surplus or deficit 1
| | b. any two differences 2 3
.' ’10“[ ~ |1 Sacrificing Ratio _ 1\2
! ' . 2. Gaining Ratio . 1\2
| i (any two difference) 2 3



11 a.gaining Ratio= 5:3 o |
‘Particulars ‘ JF Debit |Credit ! :
, | 1amount tamouni | |

\Anu's Capital Alc Dr ' *3'5600' I |

lAmmu s Capital Alc Dr ! 13000 :

. . To Achu's Capital Account L 8000 | | |
N O LI L x L2 3
I 12 1 Proflt and Loss Appropriation Account | |

: l Par’ncu_lgrs B _%Amount Particulars J{Amount ‘ |
| xlnterest on Capital | INet Profit 24000 ' | ' 1
; A: 3000 ‘Interest on drawings i i

\ | B:2500 (5500 ! -

| Salary  (500*12) 6000 'A:300 500 | |

.| Share of profit | - !

| | ‘transferd tc Capital | 1B:200 5 |

y Account | ‘ i |

| A: 6500 N | . |
| | B: 6500 13000 L L

| ; 24500, 124500 j| \ |
_ (E:ach correct entry give 1/2 score each e ra '
13 ' {Particulars ‘Debit  |Credit | | |
O | Amount {Amount. | S

| ‘2. 'Realisation A/c Dr 1500 . 1

! | To_Banklcash Alc _ +1500 : ;
b b Bank /cash Alc 2000 | | |
| - iDr 2000 ‘1l
' | o To Realisation L e % !
" C. Realisation Alc. Dr 19500 ‘, N ! |
| ToBank/cash At _ . ;8800 _ o
| .d. | Partner's Capital A/c Dr 1200 1 bl 4
|| 1. To Realisation A/c_ ) 1200 | o




14

Calcu!atlon of Good will

Average profit = =22000+28000+18000- 0-8000/4 = 13000

Good will = 150003 =45000
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To A's Capital Alc
To B's Capital Alc
To C's Capital Alc

"A's " Capital Alc

liBs Capital Alc
C's Capital Alc
' To_Good will Alc

Pamculars .

)FA'S Capital alc

|B's Capital alc

\C's Capital a/c

I ToGoodwillalc
TA's Capital

B's Caplta! alc

| ~_ToC's Capital alc
EA s Capital a/c

1B's Capitai aic

‘C g Capital a/c

. To Goodwill alc
A's Capital

‘R's Capital alc

. To C's Capital a/c

by -

Dr
Dr
Dr

Dr.
Dr.
Dr.

“or

Dr.

“Dr.

Dr.

Dr.

" Dr.
Dr.

— ¥

l

‘Deblt' Credit |
{Amount xAmount
115000 |
\ 6000
| 13000
#n.‘ﬂ,___AQQQQM_
12000
11000 |
12000
... .5000
'Debit . Credit
112000 |
6000
112000 !
._._..30000_
12000
6000 |
. .|18000
20000
10000 |
120000
P 50000
12000
. 6000
i /18000
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11\2

11\2
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e et T2 e

Shasth lParhculars o ~7Amount |Particulars______ tamqg_rlt__r
| \ ||Bebtors - -\20000 ‘Creditors 120000 | |
| . " Stock - ©]22000 Bills Payable -.130000 .
b '. 1| Furniture ) 125000 Investment |
\ Macﬁmery 140000 | fluctuation fund k 5000 |
| {investment 130000 | Provision 1000 |
| ""Bank(CrsWOOO 47000 |Bank (stock : P
;. | 1&B/P30000) - \ 19800,Drs 5 %
& \ Pranav's Capital ‘ 18000 Machinery | N »
\(Expense) \{1000 40000&Investment | R
l \ \ 30000) 1107800 |
1 l Abhi's Capital alc \ 1
| Abhi's Capital 1 (Furniture) 22000 |
| 480 | 800 \ |
| | lPranavs Capital - | l
. \ 1320 ‘ , \, -
- | | o |
o 1__;;_;_Lﬂ | ___#___#'185800 - 185800



1add surplus 20000'43000
, Denation for ;
125000

investment

jadd purchase 4000 7000
furniture 6000
IAdd
i purchases 12000

18000
less depre 3000 15000
Ofs subscription ,3000
pre paid rent 500
30000

e i

buildings
| Ols salaries {2500
| i
|
|
II |
A (-

170500

( Fxpendlt_qrf _iAmount _ it jIncome ____Amount
‘Rent 3000 Subscri. 32000 "
!!iess Prepaid - 500 | 2500 |Les: Ols 2000 |
i i Salaries 7500 | L ! ‘
{Add:O/s 2500 | 10000 30000 ! ’
‘ Depreciation | 3000 |Add: O/ 3000 |33000 |
| | isale of News Paper ! 1500 |
| | Surplus | 20000 ,Sundry Recelpts . 1000
o T
1 | |
e 35500 . 35500
e Balan(.e sheet as on 31/12/2_Q17 e
' Liabilities , [ﬂngult Asset _{Amount
»General/capltai tund (23000 'Cash in hand 12000 1
| (brf) 1 [ furniture ‘6000 |
| | .books 3000
{; | | subscription o/s fzooo !
il T 123000 | B 23000
| __Eigil_ance sheet on 31/12/2018 -
|| Llabmt;_e_3§ _ ﬂ__ga;mgugt Ias__sets_ amount“‘
| 'General / capital | .Cash in hand 15000
fund 23000 ;book 3000

!




5[{7

o o _ ""Revaluation AIC i
l|_l?a_rggyj_a_rv ~ o7 ramount int _ |Particuiars_ ~ TAmount | | 1/2
| fstock 4500  |Buildings ~ 40000 | | Score
| i Furniture . ;600 | for
. L Provision 1500 | ! gach
o Crexditors 12000 ) t correct
= Frohit on Revaluation ' : - lentry
i ! i ! . I
4950 : :
Capital { | _ 2 \
W fsao0 e .
oo -+ 10000 10000

- Partner’s capital account e ‘
7g9plka .devika |radika | particulars | {gopika | 'devika | radikal 1/2. ‘

foimcuiars”
[partioulars_ | .
A Balance 131000 22500 ‘ Score -
¥ | ] bid . | o
i | | Bank | 20000 each | |
! | l goodwill 6000 12000 | correct | !
i | | Revaluatio 4050 | 1350 entry |
) i n . . !
: |
’ : ’ General :
i | | Reserve 3000 11000 | !
; | o i
! ' ':
| balance cid 44050 26850 | : |, 3
lL_______ — 20000 | 4 _L ~
; , .44050 ) | 26850 20000 14050 26850 120000
C T T 77 Balance sheet as on31/0312018 o
uygl_a_!htles L _ amount__ | Assets __|amount |
S cr 25000 Cash(12500+20000+
. add _unrecor.d_edz 2000 |27000 8000) 40500
(Capital -~ B/R - : 3000 |, 1/2
~Gopika - 44050 sSbr - . 17000. ' Score
| Devika . 26850 Less Provision 1500 |15500 | for
| Radika 20000  gpgo0 Stock 15000 each
N ' Less Depre 1500 13500 | correct
N Furniture 6000 | entry
= less Depr 600 5400

Buldings 30000 ! | ’
! |add Appre 10000 140000
‘ , 117_90_0__J____ o 11/900 3

S S U




~ {CODE :SY 49)
PART.B
ANAl YS‘S OF. FINANCIAL MANAGEMENT
QN | Sub’ [
. Qn.
No. | Answer keylValue Pomts o L Score | Total
1| |b)Interest Rate ' ] ] 1 1
2 w'__; c). Inventory, Turnover Rauo i1 1
3 | |dincomeStatement e |1 1|
4 1 ldyincomeTax . . oo i 1|
5 [ |Bearer Debenture 1
b | Irredeenmiable Debentrue 1 2
6 a. | Reserves and ourp!us/Share Holders Fund e 1
‘ b | Current Asset 1 2
.7 | @& | Decrease cash “from operation /(-) 1
b Increase cash from operation/ (+) 1 2
8 Calculation of Gross Profit Ratio T
- Revennue from operation 650000
Less Return inwards- : 50030
Net Revue from operation , __ 600000
Less cost of Revenue from operation 480000
| Gross Profit 120000 1
Gross Profit Ratio = Gross Profit / Net Reveue from Operation . x 100
“1200’)0/600000x100 20% ' 1 2
9 1 §t§ievrge_n_t_gffrofﬂ and Loss / Income Statement__ 1/2.
2 | Balance Sheet / Position Statement 1/2.
‘__Any two llmltattons_ i 2 3
10 Buiding a/c "~ Dr. 220000
L To Vender s alc. - 220000 1
Véicersaie Dr. 110000 _
BRI R _IF?_}:ES.h alc. .. ___ 110000 1
Venders a/c * - Dr.‘ 110000 _
To 12% Debentrure alc - 100000
| __To Debenture Premium a/c 10000 i 1 3
{ Give marks for compound entry) -
| 11 | @ | Over Subscription 1
b o
| Three Aalternatives are available
1. Accept some apphcatlon ln fuli and totally reject
the others
2. Make a Pro-rata allctement to aII
3. Adopt a combination of above 2 alternatives
_ | (Write any two) ~ 2 3
12 | a_|lInvesting 172
b | Operating _ 12.
_C fnvé*:g_ti_rjg!Finar_igjpg.. o . , B 2.
_ | d |Firanging” . - .~ A 2
e |Operating .~ .~ e 112.
f |lnvesting . . | 1/2. 1 3




13 Share Capital a/c Dr. 3000
To Share fodeiiure alc 900
Tec Share al lofemer‘t alc 800
] To Share Calis a/c. 1200 2

Bank a/c Dr. 2000

Share Forfieture alc . Dr. 500
i |.__ | ToShareCapitala/c 2500 1

uha,e Fﬂrﬂeture alc . - Dr. 250
A _Jo Capital Reserve 250 . T
: 14 Parliculars - 201617 201718 Absolute * Percentage of
i : Increase/Decrease

Increase/Decrease

Revnue from operation 600000 800000 200000 33.33% 1

Add Other Incomes 50000 100000 50000 100 %

Total Revenue from 650000 900000 250000 38.46%
|| opeation U R
! Less prews«—“s 406000 500000 - - 100»0_(1@»___» o Zq o

Profit Before Tax 250000 400000 150900 L 60% 1

_ | Less Income Tax 100000 160000 60000 ~ 60%
Proft After Tax 150000 . 240000 90000 . 60% 1
15 Cash from Operation B
| __|ClosingP/L 30000 o
) Less opening P/L :@ o 20000 - ~ L

| | Current year Profit - L 10000 o

Add Depreciation 2000

Add Good will 4000

- | Profit Before working capital Changes 16000

Add decrease in Debtors : 4000
~_decrease in Bills recievable 4000 o
_______ L 24000
o Less increase in prepaid xnemance 20 -~ -
: B L)ggrg@gf_& in out stav‘qu rent 2406 L
I Cash from operation . 21400

( for each correct entry 1/2 score) ,
Note: Provision for Depreaciation may be consider as current liability)

16| lgankaic  Dr.(70000x3) 210000
To share » Application a/c 210000
Share Appiication a/c Dr. 210000
To Share Capital a/c (50000x3) 150000
| To Share Allotment a/c_(20000x3) ___ 60000
‘Share Allotment a/ ¢ Dr. (50000x4) 200000
! To Share Capital a/ ¢ 200000
1 : R
Bank a/c Dr. . ( 140000-1400) 138600
" Calis in arrear a/c Dr. ( 500x4-600) 1400
To Share Allotment alc 140000
Share first call.a/lc  Dr. (50000x3) 150000 .
to share capital a/é 2 1is0OCO |
Bank 4/ ¢ L Dr. - 1485C0
Calis in arrear a/c Dr.  (500*3) 1500

To Share first calla/lc 150000




] Avelage Inventory = Opemnc Stock + Closmg Stock / 2

I
| lnvetory Turnover Ratio = 120000/ 30000 =4 Times

5 ham capital a'c Dr. BOC0Y 5066 :
To forfieted shares a/c 2100 i
_To caHs in arrearb a ' -

o YoTe)
L&()

—— (vae one score for each correct eniry) ,.'-__

Gross Profit Ratio ‘Gross: proﬁt 7 Net Revenue from Operatson x100

Gross profit = Revenue from operation - Cost of revenue from operation
-=150000-120000 ='30000 ,

Gross Profir Ratio = 30000 / 150000 x 100 =20% B o
| !nvr\ntory Turn over Uet‘o = Cost of revenue from op operation / Ay Average '

i
| Ve TtDr"

=28600+31000/2 = 30000

| = 150000/ 1 10000 =1.36 6 times

|

Fixed Asset turn over Ratio = Net revenue from operation / Net ﬂxed Assets

- . . ) |
Debtors Turn over Ratic = Net (Credit) Revenue from operation / |
|

Average traJe raécievables

| (Dettors) ’ | : ‘ /

. =15000016000 = 9.38Times S
_ ~ » _(note: for. formula onlgglve 1. score each } o



